clear
ele

m=[0.001,0.001]; %k*s"2/ft

g=32.2; %ft/s"2

E=29000; %ksi

I1=3.86; %in”"4

IL=60; %in
k=[12*E*I/L"3,12*E*I/L"3]1*12; %$k/ft

n=length (m) ;

M=zeros (n) ;

for i=1:n
M(i,i)=M(i,1i)+m (i)

end

M

k=[k,0];

n=length (k) ;

K=zeros (n) ;

for i=1l:n-1
K(i,1)=K(i,1)+k(i)+k(i+1);
K(i,i+1)=K(i,1i+1)-k(i+1);
K(i+1l,1i)=K(i+1,1i)-k(i+1);

end
K(:,n)=[];
K(n,:)=[];
K

[phi omegal]=eig (K, M)

for i=1:length (phi)
phi(:,1i)=phi(:,1i)./max (abs (phi(:,1i)));

end

phi

w=diag (sqrt (omega)) %ft/s
T=2*pi./w %s

Mn=diag (phi'*M*phi) %1bs”2/ft

L=ones (length (M), 1)
Ln=phi'*M*L $1bs”"2/ft

Wi=Ln.”"2./Mn*g %k
W=sum (Wi(:,:)) %k

MPMR=Wi . /W

Gamma=Ln. /Mn



A=g

[

D=A./diag (omega) %ft
amax=D.*Gamma %ft

n=length (gmax) ;
for i=1:n
u(:,1i)=phi(:,1i) *qmax (i),

n=length (u) ;
x=zeros (1l,n);
for i=1l:n
for j=1:n
X (1)=x(i)+u(i,J)"2;
end
end
u RSA=sqgrt (x) Sft

M =
1.0e-03 *
1.0000 0
0 1.0000
K =

149.2533 -74.6267

-74.6267 74.6267

phi =

-16.6251 -26.8999
-26.8999 16.6251

omega =
1.0e+05 *
0.2850 0
0 1.9538
phi =

-0.6180 -1.0000
-1.0000 0.6180



168.8338
442.0126
T =
0.0372
0.0142
Mn =
0.0014
0.0014
L:
1
1
Ln =
-0.0016
-0.0004
Wi =
0.0610
0.0034
W =
0.0644
MPMR =
0.9472
0.0528
Gamma =
-1.1708
-0.27064
A =

32.2000



0.0011
0.0002

gqmax =

-0.0013
-0.0000

0.0008

0.0013

u RSA =

0.0008

0.0000
-0.0000

0.0013
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